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6.5 - Review

For each of the functions find the following information.
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Exponential Models

3. Write an explicit formula to model the number of dots per day.

6,22 o «2(3)"
€=3
How many dots will there be on day 72

0n=2(3)"" =[iH5g]

4. Tayloris fraining for a marathon. He decides to begin by runhing 3 miles‘i:nd increase by 1.5

miles each day.

Write an equation to represent the scenario.

How long will it take him to run 26.2 miles?

26.1221.944).5 | 24 7~ LSA
5. You bought a Boston Whalé&rin 20041‘or$T2
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he boot s value depreciates by 7% a year.

How much is the boat worth now2 How much is lt worfh in 20202

P=12,500 Y=
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6. The population of a large city increases by a rate of 3% a ye-‘cr When the 2000 census was
taken, the population was 1.2 milion. ¢% 0.0

a) Write a model for this population growth. Y= 1.2 (1 03) (m awilli O’\S)
b) What should the population be now? Whof is the projected population for 20202

= 2.10 wilion 4= 1.2 (1.03)*°= 2.1 mill

y= 1.2 (\ 03}

Solve the following exponential equations. Show all work!
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